TpennpoBoUHbIE YpaskHeHusi 3axaHus_13

VKaKHUTE PElICHHE X—2,6<0, 1)[2;2,6]
CHCTEMbI HEPaBEHCTB {x 1>1. 2)(~ 0;2,6]
3)(— ;2] U [2,6;+0)
4)[2;+00)
VKaxuTe perieHue x—-522>0, 1)(— 0;5.2] U [6;+0)
CHUCTCMbI HCPABCHCTB {X +4<10. 2) [5,21_'_00)
3)[6;+)
4)[5,2;6]
VKaXuTe peleHue x—-320 1)[2,2;+)
CHUCTCMbI HCPABCHCTB {X _ 0’2 >2 2)[3,+CD)
3)[2,2;3]
4)(= 0;2,2] U [3;+00)
YKaxKuTe perieHue X+28<0, l)[— oo;—2,8]
CUCTEMbI HEPaBEHCTB {x +03<-14 2)[= 00,-2,8]U [- 2,7;+00]
3)[6;+oc]
4)[5,2;6]
VYKaxkure perieHue x+3,4<0, 1)(— oo;—4]
CHUCTCMbI HCPABCHCTB {X +5>1. 2)[_ 3,41_'_00)
3)[-4,-34]
4)(= o0;—4]- 3,4;+0)
YKaKuTe pereHmne X+4>-34, D[-7,4,-5]
CHCTEMBI HEPaBEHCTB {x +5<0. 2)[=5:+0)
3)(~ 00;-7,4]
4)(~ 0;-7,4] U [~ 5;+0)
VYkaxuTe perieHue x+0,6<0, l)(— oo;—3]
CHUCTCMbI HCPABCHCTB {X —1>-4. 2) [_ 0,6,+OO)
3)(— o0;—3] U [~ 0,6;+00)
4)[-3,-0,6]
YKaxKuTe perieHne X+3,6<0, 1)(— oo;—3,6] , [3;+oo)
CHCTEMBI HEPaBEHCTB {x L12< 1. 2)(~ 00;-3,6]
3)[-3,6;-3]
4)[-3,6;+0)
YKaxKuTe perieHne X—6,6>0, l)[4;+oo)
CHUCTEMBbI HEPaBEHCTB {x +1>5. 2)[4:6,6]
3)[6,6;+x)

4)(= 0:4]




10. | YKaKuTe pelenne X+4>-1, 1)[-5;+0)
CHCTEMBI HEPaBCHCTB {X+L420 2H—L¢+®)
3)[-5-14]
4)(~ 00;-5] U [~ 1,4;+0)
11. | Vkaxure pelenue 2x — x> <0 1)(— o0;0] U [2;+00)
HEpaBEHCTBA 2)[0; +oo)
3)[2;+oo)
a)[0:2]
12. | Ykaxure pelieHue 10x —x% <0 1)[0;20]
HEpPaBCHCTBA DF%MUBWWO
3)[10;+20)
4)[0;+0)
13. | Ykaxure penieHue 8x—x2<0 1)[8;+0)
HEpaBEHCTBA 2)&18]
3)(~ ;0] U [8;+00)
4)[0;+0)
14, VYkaxure penieHue X—x2<0 D@ﬂ)
HECPABCHCTBA 2)(0; +oo)
3)(L+o0)
4)(~0;0) U (L+00)
15. | Vkaxure pemienue 4x - x> <0 1)(— 00;0) U (4;+0)
HEpaBCHCTBA 2)(0; +oo)
3)(0:4)
4)(4;+0)
16. | Ykaxure pemeHue 7x—x2>0 1)[0;+0)
HEPaBEHCTBA 2ﬂ7}+dﬂ
3)(— o0;0] U [7;40)
)[0:7]
17. | YKaxwuTe pelenue 6Xx —x2 >0 1)[0;+00)
HEpaBCHCTBA 2)(_ oo;O]u [6; +Oo)
3)[0:6]
4)[6;+0)
18. | YkakuTe pemieHne 8x—x2>0 1)[0;+0)
HEpaBCHCTBA 2)&18]
3)[8;+0)
4)(~ 00;0] U [8;+00)
19. | Ykaxure penieHue 3x-x2>0 1)(3;+00)

HEepaBeHCTBA

2)(—0;0) U (3;+00)
3)(0;+o0)
4)(0;3)




20. Ykaxure pernieHue 5X —x° >0 l)(— oo;O) ) (5;+oo)
HEpaBEHCTBA 2)(0;5)
3)(5;+0)
4)(0;+00)
21. VYkaxuTte perieHue —8+4x >0, 1)Her pemenuii
CHCTEMBI HEPABEHCTB { 4_3x>_8. 2)(—o0;4)
3)(2;+0)
4)(2;4)
22. | YKaxuTe penieHue —48+6x >0, 1)(2;8)
CHCTEMBbl HEpAaBEHCTB {6 _Bx> 4, 2)(_ 0;2)
3) HEeT peleHuit
4)(8;+oo)
23. YKaxure pelieHne -10+2x >0, 1)HeT permeHuit
CHCTEMBI HEPABEHCTB {7 _6x > 5. 2)(5;+oo)
3)(25)
4)(= =;2)
24. | Yxakure pemenne ~35+5x<0, 1)(7:8)
CUCTEMbI HEpAaBEHCTB {6 _3x>_18. 2)(_ 00;7)
3)(~0;8)
4)(7;+0)
25. | YKaxuTe penieHue -9+3x <0, 1)(-0;3)
CHCTEMBl HEPAaBEHCTB {2 —3x > -10. 2)(~ oo; 4)
3)(3;+0)
4)(3;4)
26. VYkaxuTte perieHue —12+3x <0, ]_)(_ oo;8)
CHCTEMBbl HEPaBEHCTB {9 x> 23 2)(_ o 4)
3)(4:8)
4)(4;+o0)
27. | Ykaxure pemenue —27+3x >0, 1)(4;+0)
CHCTEMBI HEPAaBEHCTB {6 —3x <6, 2)(4:9)
3)(9;+)
4)(-=;9)
28. | Ykaxure pemenne {— 12+3x <0, 1)(—o0;4)
CHCTEMBbl HEPaBEHCTB 2_7x>_33. 2) HeT pelenuit
3)(45)
4)(5;+o0)
29. | YKaxuTe penieHue {— 36 +4x <0, 1)(2;+oo)
CHUCTEMbI HEPABEHCTB 5_4x < —3. 2) HEeT pelleHU
3)(~0;9)

4)(2,9)




30. | YkaxuTe penieHne {— 5+5x% <0, 1)(— 9;1)
CHCTEMBI HEPABEHCTB 43y <3l 2) HeT pelieHHit
3)(~ 9;+0)
4)(= o)
31. | Vkakure pemienue (x+2)x-7)<0 [-2,7]
HEpaBEHCTBA 2)(= coi—2] L [734e0)
3)(-0:7]
4)|-0-2]
32. | Vkakure pemienue (x+3)x-5)<0 1)(— o0;—-3]
HEpaBCHCTBA 2)[_ 3;5]
3)(~o0i8]
4)[- 00;-3] U [5;+0)
33. Ykaxure penicHue (x+4)x-8)<0 1)(— oo;8]
HEepaBeHCTBA 2)[- o0;-4] L [B1+e0)
3)[-48]
4)|-oi—4]
34. | Vkakwure pemienue (x+6)x—1)<0 1)(— o051)
HEpaBEHCTBA 2)(— w;-6)
3)(~ 00;—6) L (L+0)
4)(-6:1)
35. | YkaxwuTe penieHue (x+9)Xx—4)<0 1)(-9;:4)
HEpaBEHCTBA 2)(= 0;-9) U (4;+00)
3)(-i-9)
4)(=04)
36. | Vkakure pemenue (x+2)Yx-10)>0 1)(- 2;10)
HEepaBEeHCTBA 2)(= 20i-2) U (L0:-00)
3)(10;+o0;)
4)(= 2;+0)
37. | YkaxwuTe penienue (x+3)(x-6)>0 1)(6;+00)
HEPaBCHCTBA 2)(_ 3;+OO)
3)(~ o0;—3) U (6;+00)
4)(-36)
38. | YkakuTe pelnenne (x+5)x—-9)>0 1)(~ 5;+o0)
HEepaBEeHCTBA 2)(=5:9)
3)(9;+0)
4)(~ a0;-5) U (9;+0)
39. | Vkakwure pemenue (x+1)x—-7)>0 1)(— oo;—1] U [7;40)

HCpPAaBCHCTBA

2)[-L;+0)
3)[-17]
4)[7;+0)




40. | VkaxuTe peLieHue (x+3)x—-8)>0 1)[-3;8]
HEPaBEHCTBA ZX—kaLJBHw)
3)[8;+o0)
4)[-3+00)
41. | VKakuTe pelieHue (x+1)x-6)<0 R— T
HEPaBEHCTBA
2) -
-1 4]
3) 3 -
4) 3 o=
42. | VkakuTe pelieHue (x+2)\x—4)<0 1) e
HEPaBEHCTBA
2) g
- 1
3) S
A T
43. | YKaxuTe perieHue (x+3)x—-7)<0 o
HEpaBEHCTBA
a -3 7
U 3
4) w‘—-‘73
44. | VkakuTe pelieHue (x+5)x—-2)<0 Y 2 -
HepaBEeHCTBA
2) 3 -
R )
45. | VKakKuTE penieHue (x+8)x—3)<0 ) g
HEpaBEHCTBA
2) -“““:’g—%’-‘“‘“‘h
3) 3
4) g
46. | YKaKHTE pEIIEHNUE (x+1)x-9)>0 R g

HEepaBeHCTBA

2) R i

3) s

4) s




47. | YKaxuTE peneHne (x+2)x=7)>0 " g -
HEPaBEHCTBA
2) = -
° -2 7
S S
48. | VkakuTe pelieHue (x+4) x-8)>0 e
HEpPaBEHCTBA
S S B
3) —————gﬂﬂﬂ&ﬂb
A S T
49. YKaxute pelieHue (x + 2)(X - 8) >0 R S
HEPaBEHCTBA
2) ————t?““““#b
U S B
4) —W-S
50. | YkaxwuTe pelenue (x+4)x-9)>0 L S
HEpaBEHCTBA
2) —————g““““*
3) »N:z—g«wh—
8 e
51. | YKaxuTe peleHue -3-x=x-6 1)(— 001,5]
HEpPaBEHCTBA 2)[L5;+00)
3)(— 0;4,5]
4)[4,5;+00)
52. Ykaxure pernieHue 3-2x>8x-1 1)[— O,2;+oo)
HEPaBEHCTBA 2)(~0;0,4]
3)[0,4;+0)
4)(— 0;-0,2]
53. VYkaxure perieHue —3-X>4x+7 1)( oo;—0,8)
HEpPABEHCTBA 2)(_ Oo-_z)
3)(~ 2;+0)
4)(-0,8;+)
54. | Ykaxure pemenue -9-6x>9x+9 1)(-0;-1,2)

HCpPAaBCHCTBA




55. YKaxKuTe perieHue —3-3x>7x-9 1)(0,6;+oo)
HEpaBCHCTBA 2)(_ 00;1,2)
3)(1,2;+0)
4)(~0;0,6)
56. | YkaxuTe penieHue 6-7x<3x-7 1)[0,5;+o0)
HEpaBEHCTBA 2)(_ 00;1,3]
3)[L,3;+0)
4)(-;04]
57. | Vkaxure pelieHue —3-5x<x+3 1)(— oo;O]
HEPaBEHCTBA 2)[_ 1;_,_00)
3)[0;+0)
4)(= o01-1]
58. YKaxKuTe perieHue —3-Xx<4x+7 1)(— oo;—0,8)
HEpaBCHCTBA 2)(_ 2: +OO)
3)(— oo;—2)
4)(-0,8;+)
59. YKaxute pelieHue —9-6Xx<9x+9 l)( oo;—1,2)
HEpaBCHCTBA 2)(_ 1,2; +Oo)
3)(0;+)
4)(= ;0)
60. YKaxKuTe perieHue —3-3x<7x-9 1)(— oo;0,6)
HEpaBCHCTBA 2)(_ 00;1,2)
3)(0,6;+)
4)(1,2;+00)
61. YKauTe peLieHme 4X-4>9x+6 1)[— O,4;+oo)
HepaBeHCTBa 2)(_ oo;—2]
3)[— 2;+oo)
4)(~ 00;-0,4]
62. | YKauTe pelueHune 2X—8>4x+6 1)(-00;—7]
HepaBeHCTBa 2)(_ oo;l]
3)[L;+0)
B[~ 7;+0)
63. YKakuTe pelieHue 5X+4<X+6 1)(— 00;0,5]
HepaBeHCTBa 2)(_ 00;2’5]
3)[0,5;+c0)
4)[2,5;+0)
64. YKaxuTe peleHme 4x—-4<9x+6 1)(— oo;—0,4]
HepaBeHCTBa 2)[_ 2;+OO)
3)(- ;2]

4)[-0,4;+0)




65. YKaskuTe pelueHmne 2X—8<4x+6 1)[— 7,+oo)
HepaBeHCTBa 2)(- Oo__7]
3)[L;+o0)
4)(— oo,l]
66. YKaxuTe pelieHve 8x—-8>7x+6 1)(— oo;14)
HepaBeHCTBa 2)(14;+0)
3)(— 2;+o0)
4)(— oo;—2)
67. YKaxuTe pelueHve 2X—8>4x+6 1)(—oo;1)
HepaBeHCTBa 2)(Li+0
3)(—0;=7)
4)(=7;+0)
68. YKaxuTe pelueHne 5X+4<X+6 1)(—00;0,5)
HepaBeHCTBa 2)(2’5;4_00)
3)(- 0;2,5)
4)(0,5;+)
69. | YkawuTe peleHue 7X+9<9x—8 1)(~0,5;+0)
HepaBeHCTBa 2)(8,5;+00)
3)(-0;8,5)
4)(— 0;—0,5)
70. | YKaxuTe pelueHue 2Xx—4<Tx—1 1)(L+o0)
HepaBeHCTBa 2)(_ 0,6;+oo)
3)(-o01)
4)(~0;-0,6)
71. YKaxkute pelueHue AX+5>6xX —2
HepaBeHCTBa R
2) Mm»?q—u
9

4)




72. YKaxuTe pelueHune X—1<3x+2 N s
HepaBeHCTBa
2 -15
% 05
4 —0.5
73. YKaxkute pelueHune 3—-x=>23x+5 1) ~
HepaBeHCTBa
2
4 -2
% —-0.5
4 —-0.5
74. YKaKuTe pelieHne 2+X<5x-8 D 13 -
HepaBeHCTBa
2 1.5 -
& 25 -
4 25 -
75. YKaxuTte pelleHune 4x —2>-2Xx-5
HepaBeHCTBa " 05
2 —0.5
) -35
4 —-35
76. | YKaxuTe pelieHune 2x+4<-4x+1 1 By >
HepaBeHCTBa
2 25 "
¥ —0.5 -
4) =33 -
77. YKaxuTe pelieHue 4x-5>2x—4 g s =
HepaBeHCTBa
2 15 >
¥ 0,5 -

4}




78. YKaxuTe pelleHue —2X+5<-3x-3 1) ~ -
HepaBeHCTBa
2) > -
3) =4 -
4 —04 >~
79. YKaKuTe pelieHmne X+4>4x-5 1) = -
HepaBeHCTBa '
2) = -
3} 5 -
4) r -
80. YKaxkuTe pelieHue X—2<4x+4 1) ~ -
HepaBeHCTBa
2) ~ -
3 0,4 >
4 0.4 >
81. YKaxuTe pelieHve 3x—2(x-5)< -6 1)[4,+oo)
HepaBeHCTBa 2)(_ 00_4]
3)(— o0;-16]
4)[-16;+0)
82. YKaxuTe pelieHue 2X — 3(x - 7) <3 1)(— oo;—24]
HepaBeHCTBa 2)(_ oo'18]
3)[18;+w0)
4)[- 24;+o0)
83. | YkaxuTe pelueHune X —4(x—7)>-3 1)[5,+0)
HepaBeHCTBa 2)(_ s 2]
3)[- 6,2;+)
4)(- 0;5]
84. YKaxuTe pelueHue 8x — 3(X + 9) >-9 1)[3,6,+oo)
HepaBeHCTBa 2)[_ 7 2_+Oo)
3)(— 0;3,6]
4)(— oo;—7,2]
85. YKaKuTe peleHmne 2X — 4(3X + 9)2 -3 1)(— oo;—3,3]
HepaBeHCTBa 2)[_ 3 3_+OO)
3)[3,9;+00)

4)(—0;3,9]




86. | YKaxure peweHue 8x —3(3x+8)>9 1)[15,+0)
HepaBeHCTBa 2)(_ oo;—33]
3)(- ;15
4)[-33;+0)
87. YKaXkute pelueHue 5x — 2(2x - 8) <-5 l)(— oo;ll)
HepaBeHCTBa 2)(11;+oo)
3)(— oo;—21)
4)(~ 21;+00)
88. YKasuTe pelueHmne 5x — 3(5X - 8)< -7 l)(— 00;3,1)
HepaBeHCTBa 2)(_1,7;+Oo)
3)(-0;-17)
4)(3L;+00)
89. YKaxuTe pelueHne 3x— 2(x - 2) >4 1)(O;+oo)
HepaBeHCTBa 2)(_ 8;+oo)
3)(-;0)
4)(— 0;-8)
90. | YkaxuTe pelueHune 6x —3(4x +1)>6 1)(~1,5;+0)
HepaBeHCTBa 2)(_ oo;—1,5)
3)(-0;-0,5)
4)(— 0,5;+oo)
91. | YkakuTe peweHue x? —49<0 1)uer pemeHuit
HepaBeHCTBa 2)(— oo;+oo)
3)(-77)
4)(— oo;—7) U (7;+oo)
92. | YKakuTe pelueHue x2 —25<0 (- oo;+oo)
HepaBeHCTBa 2)HeT pellieHuit
o 3)(-55)
4)(= 00;-5) U (5;+0)
93. YKaKuTe peleHmne x2 —49>0 1)(_ 7;7)
HepaBeHCTBa 2)HeT pelieHuit
3)(— oo;+oo)
4)(=00;=7) U (7;+00)
94. | YKauTe pelueHune x? -36>0 1)(— 00;+00)
HepaBeHCTBa 2)(_ oo;—6)u (6;+oo)
3)(-6:6)
4)Her peueHui
95. YKaxuTe pelueHue x? —25>0 1)(— oo;—5)u(5;+00)

HepaBEeHCTBA

2)(-5;5)
3)HeT pemieHui
4)(— oo;+oo)




96. | YkauTe pelueHune x?-64>0 1)(— oo;+oo)
HepaBeHCTBa 2)(_ 8;8)
3)(— o0;-8) U (8;+)
4)Her perieHui
97. YKaxuTe pelieHve x? -36<0 1)(— oo;+oo)
HepaBeHCTBa 2)(—00,—6]u [6;+oo)
3)[-6:6]
4)HeT peneHui
98. YKaxuTe pelieHme x2 —-49>0 ]_)[_ 7;7]
HepaBeHCTBa 2)HeT peleHHit
3)(—o0,~7] U [7;40)
4)(— oo;+oo)
99. | YkaxuTe peweHue x* -36>0 1)(— o0;+00)
HepaBeHCTBa 2)HeT pellieHuit
o 3)(—0;—6] U [6;+)
4)[-6:6]
100. YKaxuTe pelieHne X2 —64>0 1)[_ 8;8]
HepaBeHCTBa 2)(- oo;—8]u [8;+oo)
3)HeT penicHui
4)(— oo;+oo)
101. YKaxKuTe peleHune {x > 8, 1) : -
CUCTEMbI HEPABEHCTB 9-x>0
2) ; =
VTR T
4) HeT peweruii
102. YKaxuTte pelueHune {x > -1, 1) : -
CUCTEMbI HEPABEHCTB 3_x>0
2 T
3) HeT peweHi
4) ~: o
103. YKaxuTe pelieHue {x > -1, 1) o -
CUCTEMbI HEPABEHCTB _4_x>0

2) i e

3)

¥

4) HET pelleHui




104. YKaxuTe pelleHue X <3, 1) < -
CUCTEMbI HEPaBEHCTB 4—x>0
2) 4 o
3) E -
4 —Cj.m‘“‘““‘@_b_
) 3 4
105. YKasuTe pelleHune X <9, 1) < =
CUCTEMbI HEPABEHCTB 8—x>0
2) . oo
3 8 9
4) : -
106. YKaxuTe pelueHne X>8, 1) 5 -
CUCTEMbI HEPABEHCTB 9— x>0
2) 5 oo
3) : -
4 —}Mﬂ‘ﬂﬂu—-ﬁ
) 8 9
107. YKauTe peLieHue X>3,
CUCTEMbI HEPaBEHCTB 4-x<0 1) g
2) ; -
3) : -
4) 2 =
108. YKakuTe pelieHue X>9,
CUCTEMbI HEPABEHCTB 4-x<0 1) —?WB—-»
2) : -
3) : -
4) =




1009. YKaskuTe pelueHmne X< -3, 1) ; -
CUCTEMbI HEPABEHCTB 9-x<0 -
2 -
) 9
3) s
) -3 9
4) HET pelueHui
110. YKaKuTe pelieHmne X< -1 1) = -
CUCTEMbI HEPABEHCTB _4—-x<0
2) HeT pelleHni
3 oo
) -1
4 e 8 e B,
) —4 -1
111. YKaxuTe HepaBeHCTBO, 1)x2 +70>0
peLeHnem KoToporo 2)x2 —70> 0
ansetca Ntoboe unco.
3)x% +70<0
4)x* -70<0
112. YKaxuTe HepaBeHCTBO, 1)x2 -56>0
peLeHnem KoToporo 2)x2 +56 > 0
anseTca Ntoboe umco.
3)x? ~56 <0
4)x* +56 <0
113. YKasKuTe HepaBeHCTBO, 1)x* —64>0
peLeHmem KOoToporo 2)X? +64<0
ABAAeTCA Ntoboe ymcno. a
3)x? +64>0
4)x* —64<0
114. YKa)kuTe HepaBeHCTBO, 1)x? +78>0
peLeHnem KOoToporo 2)x? —78<0
ABnaeTca noboe ymcno.
3)x* +78<0
4)x* -78>0
115. YKa)kuTe HepaBeHCTBO, 1)x? -15<0
peLeHmem KOoToporo 2)x? +15> 0
aBnsetca Noboe uncso.
3)x* +15<0
4)x2 ~15>0
116. YKaxuTe HepaBeHCTBO, 1)x? +15>0
KOTOpOe He umeet 2)x? —~15<0
peLIeHNiA. a
3)x? -15>0
4)x* +15<0
117. YKaXuTe HepaBeHCTBO, 1)x2 +64<0
KOTOpOe He umeet 2)X2 + 64> 0
peLeHni.
3)x? -64>0

4)x* -64<0




118. YKaXuTe HepaBeHCTBO, 1)x2 -70<0
KoTOpOE He meer %2 —70>0
peLeHnit.
3)x? +70<0
4)x* +70>0
119. YKaXuTe HepaBeHCTBO, 1)x2 —56 >0
KoTOpOE He umeet 2)x2 +56 >0
peLeHnit.
3)x2 —56<0
4)x* +56<0
120. YKaunTe HepaBeHCTBO, 1)x% +78>0
KoTOpOE He umeet 2)x2 +78<0
peLeHnit.
3)x* -78>0
4)x? —78<0
121. Ykaxure 1)x*> —49>0
HEpPAaBEHCTBO, 2)x? —49 <0 =7
pEILEHUE KOTOPOIo ,
1300paXkeHo Ha 3)x* +49>0
PHUCYHKE. 4)x* +49<0
122. Ykaxure 1)x? -25>0
HEPaBEHCTBO, 2)x? —25<0 -3 3
pEILEHUE KOTOPOIo ,
1300paXkeHo Ha 3)x* +25<0
PHUCYHKE. 4)x* +25>0
123. Vkaxure Dx*-36<0 . .
HEPABEHCTBO, 2)x? +36>0 -6
pEILIEHHE KOTOPOTO x? 3620
M300pakeHo Ha
PHUCYHKE. 4)x* +36<0
124. Vkaxure )x? +64>0 . N
HEPABEHCTBO, 2)x% —64<0 -8
pEILIEHHE KOTOPOTO ,
1300pakeHo Ha 3)x* ~64>0
PHUCYHKE. 4)x* +64<0
125. VKaxute 1)x* —49<0 ] .
HEPABEHCTBO, 2)x? +49<0 —7
pelIeHne KOTOporo , y
1300pakeHo Ha 3)x* -4920
PHUCYHKE. 4)x* +49>0
126. Vkaxure )x? +25<0 ) .
HEPABEHCTBO, 2)x? - 25<0 -5
pelIeHne KOTOpOro ,
U300pakeHo Ha 3)x* +2520
PHUCYHKE. 4)x* —25>0
127. Vkaxkure 1)x? +16>0 ) .
HEPABEHCTBO, 2)x? ~16<0 —4
pEILIEHHE KOTOPOTO ,
n300pakeHo Ha 3)x* +16<0
PHUCYHKE. 4)x* -16>0




128. Vkaxure Hx*-9>0 S
HEPaBEHCTRBO, X% +9>0 - ’
peleHre KOTOPOro ,

M300paKeHo Ha 3x* -9<0
PHCYHKE. 4)x* +9<0

129. VkaxuTe 1)x? -36>0 ; .

HEPABEHCTBO, 2)x? +36>0 -6 6
elIeHne KOTOPOro

PEILICTHE XOTOPOT 3)x? ~36<0

H1300pakeHo Ha

DHCYHKE. 4)x* +36<0

130. VKaxute x> +64>0 : ,
peleHre KOTOPOro ,

M300paKeHO Ha 3)x” ~64<0
PHUCYHKE. 4)x* +64<0

131. VKa)uTe peleHue Xx—-37<0, Y 3 D
CHCTEMBI HEPABEHCTB X—2>1

2) 37 -
2 3 37
4) 3 L

132. VYkaxure pernieHue x—4,3<0, n e § -

CHCTEMBI HEPaBEHCTB Xx+5<1
2) ne -
3) : -
4 43 5

133. VKa)uTe peleHue X—4>0, " 3 >

CHCTEMBI HEPABEHCTB x—03>1
2) « -
4
3 1.3 4
4 13 4

134. Ykaxure perieHue x+18<0, 1 - -
CHCTEMBI HEPaBEHCTB X+05<-05 '

2 -138 I

3)

4)

L i

L i




VYkaxure penieHue

CHUCTCMbI HCPABCHCTB

1)

136.

VYkaxxure penicHue

CHUCTEMBbI HEPABCHCTB

X+4>-45
X+4<0

{x—&?SQ

X+4>1

1)

4)

2)

3)

137.

Ykaxure PCUICHUC

CHUCTCMbI HCPABCHCTB

2)

3)

¥

-2

¥

138.

Ykaxure PCUICHUC

CHUCTCMbI HCPABCHCTB

Xx+0.7<0,
Xx-1>-5

X+3>
Xx+11>0

2)

3)

¥

139.

Ykaxure penicHue

CHUCTCMbI HCPABCHCTB

X+3,2<0,
X+1<-1

2)

3)

—0,7

140.

VYkaxure penieHue

CHUCTCMbI HCPABCHCTB

X—7.4>0,
X+2>3

2)

3)

4)

¥

1)

2)

¥

—
-

3)

¥

7.4

4)

7.4




141.

VYkaxure
HEPaBEHCTBO, KOTOPOE
He UMeeT pelIeHU

1)
2)

> —8r — 83 =0
> —8r+83<0

3) 22 —8xr—83 <0
4) > —8r+83=0
142. Vkaxure 1) 22 L2136 <0
HEPaBEHCTBO, KOTOPOC 2) 22 - 360
He UMeeT PCIICHUI
3) 2 +x+36=0
4) 22 +2-36<0
143. VKaKuTE 1) 22 —z+56<0
HEPaBEHCTBO, KOTOPOE oy .2 _
He MMeeT pEIeHuit ) 2 —z—56>0
3) 22 —x—56 <0
4) 2> —x+56 =0
144, VYkaxure 1) 22 + 6z —51 >0
HEPaBEHCTBO, KOTOPOE \ i
He MMeeT PEIeHn i 2) z° +6z—-51<0
3) 2> +6x+51>0
4) 22 + 6z +51 <0
145. Vkaxure 1) 22 262412 =10
HEPaBEHCTBO, KOTOPOE o 2 _
He MMeeT peleHuil ) 2° +62+12<0
3) 22 +62z—-12<0
4 z* +6z—-12>0
146. YKaxuTe 1) z2 —52+13 >0
HEPABEHCTBO, KOTOpOe 2) 22 —5r—13 =0
He UMeeT PEIICHHH
3) 22 -5z —13 <0
4) z* —52+13<0
147. Vkaxunre 1) 22 +92—-79 <0
HEPaBEHCTBO, KOTOPOE )
He MMeeT PEIICHUN 2) =" +9z+79>0
3) 22 + 92+ 79 <0
4 2 +92—-79 >0
148. Ykaxure 1) 22 —5x+53 <0
HEPaBEHCTBO, KOTOPOE s - ]
He MMeeT PEIeHni 2) " —5r—53<0
3) 22 -6z +53 =0
4) z? —5x—-53>0
149. Vkaxure 1) z2 -2z —65<0
HEPaBEHCTBO, KOTOPOE . .
He HMeeT PelleHuUi 2) @ —22—65>0
3) 22 —22+65<0

4)

z? —2x+65 >0




150. VkaxuTe 1) 2° -3z —11<0
HEPAaBEHCTBO, KOTOPOE 5
He HMeeT PelcHUi 2) =" —3z+11<0
3) 22 —3z+11>0
4) 2 —3z-11>0
151. Ykaxure 1) 22 — Tz <0
HEPaBEHCTBO,
P . i 2) 2?2 —49 >0
peleHre KOTOPOro 5 3
U300paXKeHo Ha 3 2* 7z >0
152. VkaxuTe 1) 2° —6z <0
HEPaBEHCTBO, ) ) 2) 22 — 6z >0
pelIeHre KOTOPOro 0 : -
U300paKEeHO Ha 3 z* —36 <0
pI/IcyHKe. 4} 1,2 — 36 = 0
153. VYkaxure 1) 2* —64 <0
HEPABEHCTBO, 2) 22 640
penieHue KOTOporo """""""B’—g“““"‘“
U300pakKEHO Ha 3) «* — 8z <0
PHUCYHKE. 4) z* —8x =0
154, Vkaxure 1) 22 —1>0
HEPaBEHCTRBO, )
pelIeHre KOTOPOro " . - 2) z° -z >0
HU300pakeHo Ha 0 1 3) 22 —1<0
PHCYHKE.
4 22—z <0
155. Vkaxure 1) z* —16 <0
HEPaBEHCTBO, 5
2} = —4x <0
pelIeHre KOTOPOro " . -
n300pakeHo Ha 0 4 3) 2 —4x >0
pPHUCYHKE. 4) z —16 >0
156. Vkaxute 1) a* —49 <0
HEPABEHCTBO,
p 2) 22 — Tz <0
pelIeHre KOTOPOro . -
U300paKEeHO Ha 0 7 3 2 —49>0
PHCYHKE. ) 22— 7Tz 0
157. VkaxuTe 1) 22 —36<0
HEPABEHCTBO, 2) 2 — 6z <0
pelIeHre KOTOPOro o -
U300paKEeHO Ha 0 6 3) z* — 6z >0
PHCYHKE. 4) z* —36 >0
158. | Vkaxure 1) z° — 8z <0
HEPABEHCTBO, 2) 2% —64< 0
pelIeHre KOTOPOro - -
U300paKeHO Ha 0 8 3) z° — 8z >0
HCYHKE.
PHEYH 4) 22 —64>0




159. Vkaxure 1) 2 —1<
HEPaBEHCTBO, 2 2 x>
pelieHne KOToporo . :

U300paKeHo Ha 3) =¥ 1>
PHCYHKE. 4 2z

160. VYkaxure
HEPaBEHCTBO, 1) 22 —5z<0
peleHne KOTOporo Ef : 2) 2% 25 <0
M300paKeHo Ha .

PHCYHKE. 3) 2 -5z >0
4) 22 —25>0
161. VYkaxure penieHue 1)
HEpaBEHCTBA 0 7
7x—x*<0
2 L
) 0
3
) 7
4
: 0 7
162. VYkaxure penieHue 1)
HEPaBEHCTBA 0 6
2 =
) 0 6
6x—x* <0
3)
6
4 —
: 0
163. VYkaxute perieHne 1)
HEpaBEHCTBA 8
2
) 0 8
8x—x*<0
3)
0 8
4)




164. VYkaxute perieHue 1) . . -
HEpaBEHCTBA
6x—x*<0 2) 5 g
3 + -
) 6
4) i * -
0 6
165. VYkaxuTe perieHme 1) * ’ -
HEpPaBEHCTBA 0 4
4x—-x*<0 2) 0 >
3 * . s
) 0 4
4 * fou-
) 4
166. VYkaxure penieHue 1) o =
HEpaBEHCTBA
7x—x*>0 e
3) s g
) 0 7
4 £
: 7
167. Ykaxure pernieHue 1) o -
HEpaBEHCTBA
MAMM{:,—C‘.LLL‘LLLF_
6x—x2 >0 2) 0 2
T e e
) 0 6
4 -~
: i
168. VYkaxute perieHue 1) ; =
HEpaBEHCTBA 8x—x2>0
2)  ————rccccccn g
) 0 8
3 £
) 8




169. VYkaxure penieHue 1) > =
HEpaBEHCTBA
2
X=X*>0 2) . i
0 1
3 + P
) 0
4 * —
: 0 1
170. Vkaxure pelienue 1 " .
HEPaBEHCTBA 0 5
2 " * -
) 0 5
5x—x*>0
3) * -
5
4 « P
) 0
171. VYkaxure pemieHue 1) *“““_bﬁ—g“““""*
HEpaBEHCTBA
2 -
} —6
2
X >36
3 P
) 6
4 _C?L‘Gé“ﬂ%—h.
) —6 6
172. VYkaxute perieHne 1) = =
HEpaBEHCTBA :
9) e, g
) ~1.4 1.4
25x* > 49
3) e g
) 1.4 1.4
4) P

—14




173. Vkaxure penieHue 1) e
HEpaBEHCTBA ~9 T
2) T =
9
81x* > 64
3) — £
9
——
A T 1
9 9
174. VYkaxute perieHue 1) = -~
HEpPaBEHCTBA ’
2 » * -
) ~0.,4 0.4
25x° > 4
3 - £~
) ~0.4
4 - £~
: 0.4
175. VYkaxure penieHue 1) t -
HEPaBEHCTBA El
2} B i i -
9 9
81x* >16
3} _i -
9
4} _i i -
9 9
176. VYKaKUTE PEIICHHE 1) > =
HEpaBEHCTBA -
2 b » =
S S 1
7 7
49x* > 36
3 * =
} 3
=
4 » e
ST S 1
7 7




177. VYkaxure penieHue ) s
HEpaBEHCTBA
2 -
) 3
x> <9
3] Aesan e
) -3 3
4 =
: -3
178. VYkaxuTte perieHue 1) ~ —
HEpaBEeHCTBA
2 » + -
) -6 6
x* <36
3 » -
) 6
4 * -
) —6
179. VYkaxure penieHue 1) : -
HEPaBCHCTBA
2 - ¥ oo
) -8 8
x* < 64
3 » >
) -8
4 . —
} -8 8
180. VYkaxure penieHue 1) , -
HEpaBCHCTBA 9
2) 5 P
9 9
8x* <16
3) ~r -
9
4) -

|
k0|-l-‘u
\O|J—‘u







